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P (3). Write out the equation and evaluate the following regression analysis of the impact of advertising expense on sales: 

	
	X
	Y
	
	
	
	
	
	

	
	ADVERT.
	SALES
	
	
	
	
	
	

	
	74.0
	900.0
	
	
	
	
	
	

	
	27.5
	266.4
	
	
	
	
	
	

	
	169.0
	1555.2
	
	
	
	
	
	

	
	497.0
	4320.0
	
	
	
	
	
	

	
	270.5
	2707.2
	
	
	
	
	
	

	
	44.5
	439.2
	
	
	
	
	
	

	
	63.0
	1209.6
	
	
	
	
	
	

	
	189.5
	2966.4
	

	
	
	
	

	SUMMARY OUTPUT
	
	

	
	
	
	

	Regression Statistics
	
	

	Multiple R
	0.947662558
	
	

	R Square
	0.898064324
	
	

	Adjusted R Square
	0.881075045
	
	

	Standard Error
	486.9306154
	
	

	Observations
	8
	
	

	
	
	
	

	ANOVA
	
	
	

	 
	df
	SS
	MS
	F
	Significance F
	
	
	

	Regression
	1
	12533335.05
	12533335
	52.86065
	0.000344
	
	
	

	Residual
	6
	1422608.545
	237101.4
	
	
	
	
	

	Total
	7
	13955943.6
	 
	 
	 
	
	
	

	
	
	
	
	
	
	
	
	

	 
	Coefficients
	Standard Error
	t Stat
	P-value
	Lower 95%
	Upper 95%
	Lower 95.0%
	Upper 95.0%

	Intercept
	379.436413
	259.9462655
	1.459672
	0.194671
	-256.63
	1015.502
	-256.63
	1015.502

	ADVERT.
	8.485774304
	1.167146127
	7.270533
	0.000344
	5.629869
	11.34168
	5.629869
	11.34168

	
	
	
	
	
	
	
	
	


	
	
	
	
	
	
	
	
	


